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General Instructions :-
() IHEAZTA29THH
Total number of questions in this question paper are 29.
(i)  FAFATFH T R Sl T
Use of calculator is not permitted.
(ifi) 6 T T U YT Y Syravgamar
Graph paper is required in this question paper.
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Instruction:

(A) Question No. 1 to 4 are very short answer type
questions. Each question carries 1 mark.

(3fer o1 Iwlia o)
(Very Short Answer Type Questions)

Ife A=[§ ;],13:[_32 i] @ dt 3A-B @ iRy

2 4 -2 5
If A= ,B= - B.
[3 2] [ 3 4] then find 3A—-B

Icosecx(cosecx Footx)dx T 7 a7 hifog
Evaluate |césecx(cosecx +cotx)dx.

e geiaor i Fife 79 319 Fifdre —

by Lo (Y
_dx+ 1+[dx]

Find the order and degree of differential equation.

Y LY
y—dx+ 1+[&)

m
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T4 Rz |=B|=2am 2. B-1 0D aRT 7 KT F 1
1= =T T 31 AR

If|a|=1|b|=2and a-b =1 then find the angle
b.

between vector 3 and

A

(@) T FIH 58 12 T AYIAAT T & TAE TH W
2 3% Futfa

Instruction: .

(B) Question No. 5 to 12 are short answer type
questions. Each question carries 2 marks.

REERME))
(Short Answer Type Questions)

T¥A-S  x T AF A fifmai 2]

S

L

N Y | -
sm[sm 12 eos1x =1

Find the value of x if

sin[sin"" -;—+cos'1x]=1

-6 Ao 1 A 3 fifoe - [2]
0 sint  —Ccosal
-sine 0 sinf}

cosaa -sinP 0
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-7

-9

T -10

Evaluate the determinants.
0 sin@ —cosQ
-sina 0 sinf

cosa —sinf 0

x =3 WHH f(x)=2x? -1 % Qiaw H AT fAifsg

Test the continuity of the function f(x)=2x?-1at
x=3

HIEHH T[T I R
sin(cosx?)

Find the differential coefficient of
sin(cos xz)

LICE IGEDIE
I cotx
log(sinx)

Evaluate:&

I cotx
log(sinx)

weafea HR fF Rar g s y=x* + 2x+ C ¥
HTTA WA y - 2x -2 =0 FEA ]

Prove that the given function y=x2+2x+Cisa
solution of differential equation y'-2x-2=0.
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(3)
TE-11 ﬂﬁmﬁWWﬁﬁﬁm cosa,cosf, cosy B at
- R R sin? o+ sin? B+sin’y=2

If direction cosines of a straight line are cosc,cos B,cosy
then prove that sin® o +sin? B +sin®y=2.

2]

W2 e P(A)-—— P(B)-— P(AUB)——'(ﬁ P(Af) T 12I

iy
If P(A) = P(B) ==, P(AUB) = then ind P[44

fod:

(@) T HHIS 13 ¥ 23 O < Ia8T We T 8 0w
14, 16 T 20 % Jriafta faFes §) IE T W4 3w
futfa &

Instruction:

(C) Question No. 13 to 23 are long answer type
questicis. Question No. 14, 16 and 20, have
intemal choice: Each question carries 4 marks.

GRELLeEs)
(Long Answer Type Questions)
we-13  fr g e - | 4]

+b+2c a b

c b+c+2a b |=2@a+b+c)’
c a c+a+2
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(6)

Prove that —
+b+2¢ a b
c b+c+2a b |=2(a+b+c)
c a c+a+2
w14 IR £:R »>R F&t f(x)=x?-3x+2 rr Rt 2 ot 4
f[f(x)] FaRY
If f:R =R is defined by f(x)=x?-3x+2 find
f{f(x)].
qqn
OR

w-16  Hwad &9 & fafag

firez AT £(x) = 2x TR TRAEA £:R R THA
Y1 ATBRH

Prove that the function f:R —R given by f(x)=2x 1s
one-one and onto.

WA J1d Sifere - _ [4)

xe*
J (1+x)?

dx

Evaluate -

xe*
I(H-x)’dx

[4]

-1] cosx —sinx n
tan ’[ _ 331‘-._..;;14.;2‘.
COSX +SInX 4
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Simplify

—1| cosx =sinx R 3x
tan - where —— <x<—.
COSX +SINX 4

U

OR
e UR SRS g

-1 ax+l @
tan ' 2 ptan 2=

X—2 x+2_z

Solve the following equation
1 x-1 +tﬂ.ﬂ_l x+1 _n

tan x—2 x+2_z

Y17 U R T IR ST ST 1 9EA A T B FEIgER
g 2 -

A : Frel TR ISTH W T 4 T T
B : TEelt I8Te W 6 HR TR IoTE W S Fohe B0
wet A i mivEwm e SR, S e B R TR A

A die is throws three times. Events A and B are defined
as follows:

A : 4 on the third throw

B : 6 on the first and 5 on the second throw.

Find the probability of A, given that B has already
occurred.

4]

R P [4]
T8 ot 7 =2i42)- 5k M b =21 +]+3k FNHEA S

aﬁﬂmmmﬁm

Find the unit vector in the direction of the sum of vectors

;:234-2}—51} and §=2§+]+3E.
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(8)

AWR-19  HIFT Tt vt g - 141

2_dy
COS" X—=+y =tanx
dx y

Solve the differential equation -
mszx%+y=tanx
WE-20 O eI Y W TiNAhI e &, U GuEr 900 At i 4]
| i ¥hUE sRER T ST &1 Teai it B & aiEdT it
I A sa s adft. 3

A ballon which always remains spherical, is being
inflated by pumping 900 cubic centimeters of gas per
second. Find the rate at which the radius of the ballon is
increasing when the radius is 15 cm?

HAan
OR

UEht 21 o T x Ay F1@ ARG T@k x4+ y =60 3l
Find two positive numbers x and y such that X+y=60
and xy’is maximum.
W21 AR X T et we A R - [4]

X 011 (2314|576 7
P10 [k |2k[2k |3k 2|22 [k

I MM (i) k, (ii) P(X <6).
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9)
A random varniable X has the following probability
distribution
X 0111213 (41}5 6 7
P(X) | 0] k |2k|2k |3k k2| 2k? | 7x?+k

Find the following
(M) k (i) P(X <6).

[4]

3
&
ﬂv
oy
ol
1 oy
-
7
E:
E
e
¥
f-;-l
ol
o
é
A,

- = 3 3
a-b+b-c+c-a

[4]

oH-23 "
sin_l[l xz]Wx%mmmﬁﬁi D<x<l
2

"2) with respect to x, when
1+x

3 -—

NG
Differentiate sin‘“L

0<x<l.

A

(@) T FHIE 24 W 29 qF &I Iuda WS 81 T . 25 T
27 ¥ Hiaftw fawes & TaUE {1 Q@S TH W6 AF
Faifa

Instruction:

(D) Question No. 24 to 29 are long answer type

questions. Question No. 25 and 27 have internal
choice. Each question carries 6 marks.
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(10)
(@ 3T TH)

(Long Answer Type Questions)
w24 Fefofaa aiteo Ram w smege i & s fifo - 61
X-y+z=4
2x+y—3z=0
X+y+z=2
Using matrix method, solve the following system of
equations
X-y+z=4
2x+y-3z=0
X+y+z=2
a-25 2 |2 (6}
diefga %+%=1f¥ﬁl’$ﬁﬂ CELREICEIE I
TR fafr /)
Find the area bourided by the ellipse (by integration
method) |
2 2
—x-—+-¥—_.::l
4 9
HEJY
OR
AT y=x>Td y? = x AR 5 &1 St 7000
Hifsg
Find the area of the region bounded by the two parabolas
y= xz alﬂ ny =X.
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(11

ai-26 fe Fifsre fa - (3]

% 1 R

T

%l+ tan x 12

Prove that -

% 1 n

[ et

%]+ fanx 12

wE-27 YTl ¥ st oY =g ot i Hifag Fores wfew i 161

T-

T=(-0i+({t-2)j+(3-20k

A T=(s+Di+(2s-1)j—(2s+Dk
Find the shortest distance between thé lines whose

vector equations are-

T =(1-1)i+(t=2))+(3=20k

and T =(s+Div(2s=1)j—(2s+ 1)k
HEJT

OR
TUAA X +y+2z=13 2x+3y+42=5 & wf=da @
Y AR IR TR T EHAA X — y + z =0 R AGId §HGA
EOR iU IGE I L
Find the equation of the plane through the line of
intersection of the planes x+y+z=1and

2x +3y +4z =5 which is perpendicular to the plane
X-y+z2=0.
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(12)

6]
d
SR8 o opx)® + X zﬁ.._di i Fifg

dy
If y =(logx)” +x'%8* then find i
q94-29 srorier faferr e Yfaeh ST ST i & HIfT [6]

A Z = 200x + 500y
ey EE0a & A=t

Xx+2y210

3x+4y <24
I x20,y20

Solve the following Lincar Programming graphically
Minimize Z=200x + 500y

Subject to the constraints
x+2y210

3x+4y <24
and x20, y&0

s Je o e ok v gk e ok ke ok
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